Unipart Rail Infrastructure Catalogue

LIGHTWEIGHT GRP TROUGHING

These tables will assist you in identifying the GRP you require as well as showing the associated lids,
brackets, posts and accessories.

Straight Trough - For Elevated Routes Only

Trough Straight Dimensions Straight Lid Equivalent To
Concrete Size
Cat No Part No Width Depth Length Cat No Part No
0059/043301 GRP150-6 150mm 60mm 3000mm | 0059/043315 GRCI50
0059/043302 GRP200-6 200mm 60mm 3000mm | 0059/043316 GRC200
0059/043304 GRP400-8 400mm 80mm 3000mm | 0059/043318 GRC400
0059/043305 GRP|00-8 100mm 80mm 3000mm | 0059/043314 GRCI100
0059/043306 GRP[50-8 150mm 80mm 3000mm | 0059/043315 GRCI50
0059/043307 GRP200-8 200mm 80mm 3000mm | 0059/043316 GRC200
0059/043308 GRP300-8 300mm 80mm 3000mm | 0059/043317 GRC300
0059/043309 | GRPI00-110 100mm | [Omm 3000mm | 0059/043314 GRCI100 | C/1/6 (100mm x 100mm)
0059/043310 | GRPI50-110 150mm | 10mm 3000mm | 0059/043315 GRCI50 | C/1/7 (130mm x |130mm)
0059/043311 GRP200-110 200mm I 10mm 3000mm | 0059/043316 GRC200 | C/1/9 (190mm x |30mm)
0059/043312 | GRP400-110 300mm | 10mm 3000mm | 0059/043317 | GRC300 [C/1/29 (390mm x [25mm)
0059/043313 | GRPI50-210 400mm | [0mm 3000mm | 0059/043318 GRC400 | C/1/8 (150mm x 210mm)
Brackets
Cat No Part No Width Depth Length
0050/559571 BRK200 230mm 200mm I 10mm
0050/559572 BRK250 230mm 250mm 1 10mm
0050/559573 BRK350 230mm 350mm 110mm
0050/559574 BRK400 230mm 400mm 1 10mm
Posts
Cat No Part No Width Depth Length
0050/557938 MPS |14 1400mm 100mm 50mm
0050/559575 MPS24 2400mm 100mm 50mm
0050/559576 MPD 14 1400mm 100mm 50mm
0050/559577 MPD24 2400mm 100mm 50mm
Couplers
Cat No Part No Description
0059/004006 GHCS Coupler, Coupling Splice Plate To Join Lengths Of GRP Ladder Or Trough
0059/043460 GSCC4-G Straight Coupler
0059/04346 1 GVHC-S/T Vertical Coupler
0059/043462 | GHHCC-S/T Horizontal Coupler
0050/559204 GHCG GHCG GRP Cable Ladder Coupler (EA = Pair)
0050/559205 GHHCST SS316 Hor/Vari Angle Tray Coupler
0050/559569 GHCG210 Tray Coupler; 210mm CABSYS | = pair
0050/559570 GHCS210 Tray Coupler, 210mm CABSYS SS
Accessories
Cat No Part No Description
0050/557941 M8SPWZP M8 EZP Spring Washer
0050/559206 | M8BNWZP/B M8 Post Fixing Kit - HTZZ00691
0050/559207 MG8 M8 x 25mm Nut & Bolt Grylon, Hex Head
0050/559578 MG8BOLT Bolt, Hex, GRYLON M8 x 25mm
0050/559579 MG8N Nut, Washer Faced, GRYLON M8
0050/559580 MSS820BP Bolt M8 x 20mm Slotted Pan Head A4 HTZZ004420
0050/559581 MSS8B Bolt M8 x |6émm Head A4 HTZZ005846
0050/559582 MSS8N Nut, Hex, M8 SS316 HTZZ003289
0050/559583 W8SS Washer, Round M8 SS316
0059/019006 MSS8 Kit M8 Bolt. M8 x 20 Stainless Steel Hex Bolt, Nut And Plain Washer

UNIPART

==RAIL




